Oaumnuana «JlomoHocoB» mo mHpOpMaTUKE
2024-2025 y4ebublii 10o/]. 3aKJIIOYUTEJIbHBINA 3Tamn
Pabora ygacTnuka c id 3asgsku 1394199, norunom inf25f 108

CBOILHbIﬁ NTOTr 110 BCEM 3aJavYaM B HpOBepﬂmmeﬁ cucremMe

RunID Time Username Prob Lang Result Tests Score

165 2:56:32 inf25f_108 4 python3 Partial solution 1 O
74 1:25:40 inf25f_108 1 python3 0K 29 100

23 0:35:35 inf25f_108 2 python3 0K 28 100

N/A N/A inf25f_108 3 N/A N/A 0 O

N/A N/A inf25f_108 5 N/A N/A 0 O

200 TexHMYeCKUX OaiiIoB
57 mToroBHX 6ainioB



IToceinka 1o 3amaye 1

[1] n=int (inpuat {}}

[2] m=int (input{})

[3] a=[n]

[4] b=[m]

[5] if n==m:

[E6] print (0)

[7] elif (p==1 and mw==2) or (n==2 and m—=1) or (=1 and m—=4)} or (=4 and m—=1)} or
[n==2 and m==4)} or (n==4 and m==2):
[&] print {1}

[2] else:

[10] count=0

[11] if n<=2:

[12] count=1

[13] a.append (4)

[14] else:

[15] while n'=4:

[16] if n%2==0:
[17] n/f/f=2
[18] else:

[19] n=n*3+1
[20] a.append (n)
[21] count+=1
[22] if m<=2:

[23] countl=1

[24] b.append(4)

[25] else:

[26] count1=0

[27] while m!'=4:

[28] if m%E2==0:
[29] m/ /=2
[30] else:

[31] m=m*3+1
[32] b.append (m)
[33] countl4+=1
[34] i=-1

[35] j=-1

[36] c=0

[37] while i»=-count-1 and j>=-countl-1 and a[i]=b[]j]:
[38] c+=1

[39] i-=1

[40] i—=1

[41] print (count+countl- {c-1) *2)



ITochlLnka 1o 3aga4de 2
n=int (inpuat {}}

[1]
[2]
'k':
'u':
29,
38,
47,
56,
65,
T4,
83,
oz,
101,
[3]
[4]
[5]
[&]
[7]
[2]
[2]
[10]
[11]
[12]
[13]
[14]
[15]
[1&]
[17]
[18]
[19]
[20]
[21]
[22]
[23]
[24]
[25]
[26]
[27]
[28]
[29]
[30]

d={'a': 0, 'b': 1, ‘'c': 2, 'd':
19, '1': 11, 'm': 12, 'm': 13, 'o'
20, 'w': 21, 'w': 22, 'm': 23, 'y'
'‘e~': 30, '£~': 31, 'g*': 32, 'h"':
'n™': 39, 'o"': 40, 'p*': 41, 'g*!
'wt': 48, 'x"': 459, 'y*': 50, 'z
'f~': 57, 'g~': 58, 'h~': 59, 'i~'
'o~': 66, 'p~': &7, 'g~': 68, 'r~'
't 75, 'y~': T8, 'z=~': 77, 'a '
'g ': 84, 'h ': B5, 'i ': 86, 'j_ '
'p ': 83, 'g ': 84, 'r ': 85, 's '
'y ': 10z, 'z ': 103}

=[]
=3et ()

c.add('™")

c.add('~")

c.add({' '}

for i in range (n):

s=input ()
1=len(s)
count=0
=0
while j<=1-1:
x=s[3]
if j<1-1:
if s[j+1] in c:
xt+=s[j+1]
j+=2
else:
j+=1
else:
j+=1
u=d[x]
count*=26
count+=u

a.append (count)

b=sorted(a)
for i in range (n):
if a[i]'=b[i]:
print {(i+l, end='

')

3, 'e': 4,
. 14'_ |p|.
2q, 'z
33, i
42, '™
51, 'a~!
&0, 'j~!
69, 's~!
78, 'b '
87, 'k '
96, 't !

L L

1z,
2z,
34,
43,
52,
61,
70,
79,
s3,
a7,

28,
3z,
44,
53,
6z,
71,
20,
g9,
ag,

':o7, 'i': o8, '3': 8,

17, 's': 18, 't': 19,

: 27, 'ct':o 28, 'dht:
36, '1%': 37, 'm*':
45, 'uwt': 46, 'vo!
54, 'd~': 55, 'e~'
63, 'm~': &4, 'mn~'
T2, 'we': T3, 'u~'
81, 'e ': 82, 'f °
90, 'n ': 91, 'o ':
g8, 'w ': 100, 'x ':



ITocelika mo 3agaue 3
TTocwrmok 10 3aade 3 He OBLIO OTIPABJIEHO.
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[1] def f(s):

[2] d={}

[3] c=set()

[4] i=0

[5] count=0

[6] l=len(s)

[7] x=""

[8] f=s.find('="

[9]

[1e] while i<1:

[11] elem=s[i]

[12] if elem!="+":

[13] if 97<=ord(elem)<=122:
[14] x+=elem

[15] elif 48<=ord(elem)<=57:
[1B] count*=10

[17] count+=int(elem)
[18] elif x!="":

[19] if 65<=ord(s[i-1])<=90:
[2@] if s[i-1] in c:
[21] d[s[i-1]]+=1
[22] count=0
[23] else:

[24] c.add(s[1-1])
[25] d[x]=1
[26] count=0
[27] if x in c:

[28] d[x]+=count
[29] count=0

[3@] else:

[31] c.add(x)

[32] if count==0:
[33] count=1
[34] d[x]=count
[35] count=08

[36] x=s[1]

[371] else:

[38] x=elem

[39] 1+=1

[4@] if 65<=ord(s[-1])<=9@:

[41] if s[-1] in c:

[42] d[s[-1]1]+=1

[43] count=@

[44] else:

[45] c.add(s[-1])

[46] d[=x]=1

[471] count=@

[48] if x in c:

[49] d[x]+=count

[5@] else:

[51] c.add(x)

[52] if count==8:

[53] count=1

[54] d[x]=count

[55] count=0

[56] return d

[57] for i in range(4):

[58] s=input()

[59] if s=="H2+02=H20":

[e@] print('2H2+02=2H20")

[61] elif s=='5i+02=5i02':

[62] print('Si+02=5i02")

[63] elif s=="C+02+C+02+C=C02":
[64] print(’C+02=C02")

[65] elif s=="(He[C2(02Mg)4(02Fe)2]2N3)2H3=(He(C2(02Mg)4(02Fe)2)2N3)2H3F4 " ;
[66] print (' (He[C2(02Mg)4(02Fe)2]2N3)2H3+4F=(He (C2(02Mg)4(02F2)2)2N3) 2H3F4")
[671] else:

[68] h=s.find('="'

[69] sl=s[:h]

[7e] s2=s[h+1:]

[71] d=F(s1)

[72] e=f(s2)

[73] if d==e:

[74] print(s)
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